Adapter Series 6 for
Mercedes Sprinter and Volkswagen

> Instructions




Adapter Series 6 for Mercedes Sprinter
Grozaa and VW Crafter

THULE

ANWENDUNG
Adapterset fir die Montage der Thule Omnistor 6200 auf dem Mercedes Sprinter model 2006 oder Volkswagen Crafter.

INHALT DES SETS
= ADapter 115 MM .o waimi v
- Adapter 500 mm ........
- Adapterfisse 100 mm....
- Adapterfiisse 500 mm.... ..
- Bolzen DIN 933 - M6X35 .......cocovuvvieiiiiieaneiveneenee

- Bolzen DIN 933 = MBX25..uiiaimisiunsinisiasaivesissis 5
- Muttern DIN 985 - M6 ......
- Unterlegscheiben DIN 125 - M6.... ’
Unterlegscheiben DIN 9021 - MB............oeeivennnne. 5

DN =N =
'

MONTAGE

1. Die Adapterfiisse werden auf dem Dach geleimt. Dort wo shon fabriekseitig Montagepiinkte vorgesehen sind, kénnen die Adapterfisse
nochmals extra festgeschraubt werden. Bohren Sie dafir ein Loch mit @7 in den Adapterfisse (fig. 2). Fiir die exacte Position des
Adapters, siehe die Montageanleitung der Markise.

Bringen Sie auf der gerippten Flache des Adapterfiisse Klebemasse SIKA 252 an (Fig. 1).

Montageflachern erst sorgfaltig entfetten. Montieren Sie den Adapterfiisse.

Schieben Sie die Adapter auf die Adapterfisse. Befestigen Sie alles mit den Bolzen M6x35, Unterlegscheiben und Muttern (Fig. 3).
Installieren Sie die Markise an die Adapter und sichern Sie diese mit den Bolzen M6x25 (Fig. 4).

Die vertikale Positionierung erfolgt mit den unterlegschieben M6 (Fig. 5).

Lassen Sie die Klebemasse vor Gebrauch der Markise 48 Stunden trocknen. Lassen Sie wihrend des Austrocknens des Leimes die
Markise + 5 cm offen stehen, um einer mdglichen Verdrehung des Gehauses vorzubeugen.

Noghkwmp

BEMERKUNGEN
- Um die Fahrzeugwand nicht zu beschadigen, die Markise nie mehr als 50 cm ausfahren, ohne vorher die Stitzfiisse aufzustellen.
- Kontrollieren Sie regelméaBig die Befestigung der Adapter auf dem Fahrzeug.

SONDERZUBEHOR
- Omni-Gutter 3,50m (art.nr. 307947) oder 4,50m (art.nr. 307967).

@ Read these instructions carefully. No guarantee will be allowed for wrong installation.

APPLICATION
Adapter set for installation of the Thule Omnistor 6200 awning on Mercedes Sprinter model 2006 or Volkswagen Crafter.

CONTENTS OF SET

- Adapter 115 MM ...ccecviiiviiiiieccece e
- Adapter 500 mm ...........ceen...
= Foot 100 mim... i
- Foot 500 mm............

Bolt DIN 933 - MEX25 ..coivnmnmmnnasrnsnnad
Nut DIN 985 -M§6........
Washer DIN 125 - M6.... a
Washer DIN 9021 « MB....ccoovvvvvreeeieesreeeees s

DN =N =

- Bolt DIN 933 - MBX35........cou0rvmmmmeessemmrsmsos

INSTALLATION

1. The adapter feet are to be glued onto the roof. Where they come above a hole in the roof, the feet can be fixed complementary with a
bolt M6x25. Drill @7holes in the feet at these spots (fig. 2). For the exact position of the adapter plates, see installation instruction of the
awning.

Put SIKA 252 glue on the ribbed surface of the adapter feet (fig. 1).

Remove the grease from the roof with SIKA activator and fix the adapter feet.

Slide the adapters onto the adapter feet. Tighten with bolts M6x35, washers and nuts (fig. 3)

Put the awning onto the adapters and secure it with the previously inserted bolts (fig. 4).

The vertical adjustment is done with the washers M6 (fig. 5).

Before using, make sure the glue can dry for 48H. Whilst the glue is drying, leave the awning open for + 5 cm in order not to distort the
adapters.

NO O AN

REMARKS
- In order not to damage the vehicle wall, never roll the awning out for more than 0,5 meter without getting the support arms out.
- Check regularly whether the adapters are well fixed to the vehicle.

OPTION
- Omni-Gutter 3,50m (art.nr. 307947) or 4,50m (art.nr. 307967).

ulThula NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM infoRV@thuie.com mwww.thule.com



Adapter Series 6 for Mercedes Sprinter
and VW Crafter

Prod.nr. 308073
6T926-4

L2H2 | ?

(3m25) S — :

L3H2 (220 | 190
(3m75) I e e s—
L4H2 : : !

(4m00) 430 400

THULE recommends:
THULE beveelt aan:
THULE empfehit:

Prepare / Reinigen / Reinigung:
Korabond HG83

Glue / Lijmen / Verklebung:

SIKA 252 or Terostat MS937

©

!
Option rain gutter ! \
i

e
Il Thule NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM

infoRV@thule.com mwww.ihule.com



